
 

  

Practice Set V-38 



 

 

1. The raidus of a solid sphere is 42 cm. It is melted to form 

identical small solid spheres whose radius is 7 cm. What is the 

number of small solid spheres obtained?  

,d Bksl xksys dh f=T;k 42 cm gSa bls fi?kyk dj leku 

NksVs Bksl xksys cuk, x, gSa ftuesa ls izR;sd f=T;k 7 cm 
gSA bl izdkj izkIr NksVs Bksl xksyksa dh la[;k fdruh gS\  

(a)64  (b) 125  

(c)36  (d) 216  

Ans.(d)  

2. Simplify/ ljy djsa : 
 

  
 

 

  
 

 

  
 

 

  
 

 

   
 

(A) 5/38 (B) 5/39 

(C) 5/37 (D) 3/38 

3. If then find the value of x
3
 + 1/x

3
 :  

;fn x
2
 – 15x + 1 = 0 gS rks x

3
 + 1/x

3
 dk eku Kkr djsaA 

(A) 3330 (B) 3420 

(C) 3650 (D) 3125 

4. A alone can do a work in 14 days. B alone can do the same in 

28 days. C alone can do the same work in 56 days. They start 

the work together and completed the work such that B was not 

working on last 2 days and A did not work in last 3 days. In 

how mandy days total woas the work completed?  

A vdsys ,d dk;Z dks 14 fnu esa iwjk dj ldrk gSA B 

vdsys mlh dk;Z dks 28 fnu esa iwjk dj ldrk gSA C vdsys 

mlh dk;Z dks 56 fnu esa iwjk dj ldrk gSA os ,d lkFk 

feydj dk;Z djuk izkajHk djrs gSa rFkk bl izdkj dk;Z iqjk 

djrs gSa fd B vafre 2 fnu dk;Z ugha djrk gS rFkk A 

vafre 3 fnu dk;Z ugha djrk gSA lkjk dk;Z fdrus fnuksa esa 

iwjk gqvk\  

(a) 72/7 days  (b) 65/7 days  

(c) 79/7 days  (d) 82/7 days  

Ans.(a)  

5. Find the greatest number that will divide 40, 445 and 541 

leaving remainder 9, 20 and 14 as remainders.  

lcls cM+h la[;k Kkr djsa ftlls 400] 445 vkSj 541 dks 

foHkkftr djus ij “ks’kQy ds :Ik esa Øe”k% 9] 20 vkSj 14 

cprk gSA  

(A) 18 (B) 19 

(C) 17 (D) 9 

6. The average age of boys in a school with 560 students is 12 

years and that of girls is 11 years. If the average age of a 

school is 11 year 9 months, then what will be the number of 

girls in the school? 

560 Nk=ksa okys ,d Ldwy esa yM+dksa dh vkSlr vk;q 12 o’kZ 

gS vkSj yM+fd;ksa dh 11 o’kZ gSA ;fn Ldwy dh vkSlr vk;q 

11 lky 9 eghus gS] rks Ldwy esa yM+fd;ksa dh la[;k D;k 

gksxh\  

(A) 120 (B) 150 (C) 100 (D) 140 

7. If xy = -6 and x
3
 + y

3
 = 19 (x and y are integers), then what is 

the value of 1x − 1 + 1y −1?  

;fn xy = -6 rFkk x
3
 + y

3
 = 19 (x rFkk y iw.kkZad gSa½ gks] rks 1x 

– 1 + 1y −1dk eku D;k gS \  

(a) -1  (b) 1  

(c) -2  (d) 2  

Ans.(b)  

8. Three years ago, Raman’s salary was `45000. His salary is 

increased by 10 percent, A percent and 20 percent in first, 

second and third year respectively. Raman’s present salary is 

`83160. What is the value of A?  

rhu o’kZ igys jeu dk osru `450000 FkkA mlds osru esa 

igys ] nwljs rFkk rhljs o’kZ esa Øe”k% 10 izfr”kr] A izfr”kr 
rFkk 20 izfr”kr dh of̀) dh xbZA jeu dh orZeku vk; 

`83160 gSA dk eku D;k gS\  

(a) 40  (b) 30  

(c) 50 (d) 54  

Ans.(a)  

9. What is the value of 3sin580cos320 + 3sin420 cos480?  

3sin580cos320+3sin420cos480 dk eku D;k gS\  

 (a)9  (b) 7  

(c) 8  (d) 6 

Ans.(d)  

10. An article is sold for `54120 after two successive discounts of 

12 percent and 18 percentage. What is the marked price of the 

article?  

fdlh oLrq dks 12 izfr”kr rFkk 18 izfr”kr dh nks dzfed ds 

i”pkr `54120 esa cspk tkrk gSA ml OkLrq dk vafdr ewY; 

fdruk gS\  

(a) `78000  (b) `81000  

(c) `75000  (d) `72000  

Ans.(c) 

11. The height of a cylinder is 6 cm more than the raidus of its 

base. If its radius is 14 cm, then what will be volume of this 

cylinder ?( use π = 22/7)  

,d csyu dh Å¡pkbZ blds vk/kkj dh f=T;k ls 6 cm 

vf/kd gSA ;fn bldh f+=T;k 14 cm gS] rks bl csyu dk 

vk;ru D;k gksxk \ (π = 22/7 yhft,)  

(a) 10440 cm
3
  (b) 14340 cm

3
  

(c) 12320 cm
3 
 (d) 13560 cm

3
  

Ans.(c)  

12. ABC is an equilateral triangle. If the area of the triangle is 

36√3, then what is the radius of circle circumseribing the 

triangle ABC? 

ABC ,d leckgq f=Hkqt gSA ;fn f=Hkqt dk {ks=Qy 36√3 

gS] rks f=Hkqt ABC ds ifjxr oÙ̀k dh f=T;k D;k gS\  

(a)3√3  (b) 4√3  

(c) 6√3  (d) 2√3  

Ans.(b)  

13. x, y and z are the sides of a triangle. If z is the largest side and 

x
2 
+ y

2
 + z

2
, then the triangle is a:  

x, y rFkk z ,d f=Hkqt dh Hkqtk,¡ gSaA ;fn z lcls yach Hkqtk 

rFkk x
2 
+ y

2
 + z

2 
gks] rks f=Hkqt ,d ____ gsS |  

(a) Right angled triangle  



 

 

(b) Acute angled triangle  

(c) Obtuse angled triangle  

(d) Isosceles right angled trignale  

Ans.(b)  

14. Which fraction among the following is the least?  

fuezfyf[kr esa ls dkSu lk fHkUu lcls NksVk gS \  

 

  
 
 

  
 
 

  
 
 

  
 

(a) 813  (b) 511  

(c) 712  (d) 917  

15. A computer can perform 30 identical tasks in 6 hrs. At that 

rate, what is the minimum number of computers that should be 

assigned to complete 80 of the tasks within 3 hrs.? 

,d dEI;wVj 30 ,d tSls dk;Z dks 6 ?kaVs esa dj ldrk gSA 

mlh nj ls 80 leku dk;Z dks 3 ?kaVs ds vanj djus esa de 

ls de fdrus dEI;wVjksa dh vko”;drk gksxk\  

(A) 12   (B) 6  

(C) 7   (D) 8 

16. The LCM and HCF of two numbers are 84 and 21 

respectively. If the ratio of the two numbers is 1 : 4, then the 

larger of the two number is:  

nks la[;kvksa dk y0l0 vkSj e0l- Øe”k% 84 vkSj 21 gSA 

;fn nksuksa la[;kvksa dk vuqikr 1%4 gS rks nksuksa esa ls cM+h 

la[;k gS&  

 (A) 12  (B) 48  

 (C) 84  (D) 108  

17. The first three numbers in a series are - 3, 0, 3, the 10th 

number in the series will be:  

fdlh Jà[kyk ds izFke rhu in &3] 0] 3 gS rks Jà[kyk ds 

10oka in gksxk\  

(A) 18   (B) 21  

(C) 24   (D) 27 

18. The slant surface area of a pyramid 21 cm height, standing on 

a square base of 40 cm side is 

ml fijkfeM dk oØ lrgh; {ks=Qy fudkysa ftldh ÅpkabZ 

21 lseh gS vkSj tks 40 lseh Hkqtk okys oxkZdkj {ks= ij [kM+k 

gSA 

 (A) 2320 cm
2
  (B) 2302 cm

2
 

 (C) 2032 cm
2
   (D) 2023 cm

2
 

19. Two line charts are given below. Line chart 1 shows the ratio 

of number of males to the number of females in two 

companies A and B for the 5 years. Line chart 2 shows the 

total number of males (both companies A and B) and total 

number of females (both companies A and B) for the 5 days. 

uhps nks ykbu pkVZ fn, x, gSA ykbu pkVZ 1, 5 o’kksZ ds fy, 

nks daifu;ksa A vkSj B esa iq:’kksZ dh la[;k dk efgykvksa dh 

la[;k ls vuqikr n”kkZrk gSA ykbu pkVZ 2, 5 o’kksZ ds fy, 

iq:’kksZ dh dqy taula[;k ¼daifu;k A vkSj B nksuksa½ vkSj 

efgykvksa dh dqy la[;k ¼daifu;ka A vkSj B nksuksa½ dks 

n”kkZrk gSA  

What is the ratio of number of males of company B in Y 1 to 

the total number of females of company A in Y3 and Y5?  

Y1 esa daiuh B ds iq:’kksa dh la[;k dk Y3 vkSj Y5 esa daiuh 

A dh efgykvksa dh dqy la[;k ls vuqikr fdruk gS\  

(a) 129: 215 (b) 117: 215  

(c) 117: 218  (d) 119: 218  

Ans.(b)  

20. In the digits of a two digit number is reversed, then the 

number is decreased by 36. Which of the following is correct 

regarding the number?  

nks vdksa okyh ,d la[;k ds vadks dk tksM+ 10 gSA ;fn nks 

vadks okyh ,d la[;k dsa vadks dks O;qRØfer dj fn;k tk;s] 

rks la[;k 36 de gks tkrh gSA la[;k ds lanHkZ esa 

fuEufyf[kr esa ls dkSu ls dFku lgh gS\  

i) The difference of the digits is 4. 

vadks dk varj 4 gSA  

ii) The value of number can be 84. 

la[;k 84 gks ldrh gSA 

iii) Number is always a composite number. 

la[;k lnSo ,d HkkT; la[;k gSA 

(a) II and III (b) I, II and III  

(c)I and II (d) I and III  

Ans.(c)  

21. A hollow sphere of outer surface area of 324   cm
2
 is made 

from 684  cm
3
 of metal. Find the thickness of the hollow 

sphere.  

,d [kks[kyk xksyk ftldk ckgjh oØ ì’Bh; {ks=Qy 324   

cm
2
,684  cm

3 
/kkrq ls cuk gSA  [kks[kys xksys dh eksVkbZ Kkr 

dhft,A  

 (A) 2 lseh  (B) 3 lseh  

 (C) 4 lseh  (D) 5 lseh 

22. One-forth of a herd of camels was seen is the forest. Twice the 

square root of the herd had gone to mountains and the 

remaining 15 camels were seen on the bank of a river. Find the 

total number of camels. 

Å¡Vksa ds ,d lewg esa ls ,d&pkSFkkbZ taxy esa FkkA Å¡Vksa dh 

la[;kvksa ds oxZewy dk nqxquk ioZr ij pys x;s vkSj “ks’k 15 

Å¡V unh fdukjs ns[kk x;kA Å¡Vksa dh dqy la[;k fudkysaaA 

23. If one of the angles of a triangle is 64
0
, then the angle between 

the bisectors of the other two interior angles is:  

;fn ,d f=Hkqt dk dks.k 64
0
 gS] rks vU; nks vkarfjd dks.kksa 

ds f}Hkktd ds chp dk dks.k D;k gS\  

 (A) 100
0
 (B) 122

0
 

 (C) 96
0
 (D) 112

0
 

24. What is the value of √7+√5√7−√5÷√14+√10 

√14−10+√10√5?  

√7+√5√7−√5 ÷√14 +√10√14−√10+√10√5 dk eku D;k 

gS\ 

(a) 2√2+1  (b) √2+2  

(c) √2+1  (d) 2√2+2 

Ans.(c)  



 

 

25. Out of eight numbers, the sum of first seven numbers is 8 

times the 8
th
 number. If their average is 153, then the 8

th
 

number is:  

vkB la[;kvksa esa ls] igyh lkr la[;kvksa dk ;ksx 8oha la[;k 

dk 8 xquk gSA ;fn mudk vkSlr 153 gS] rks 8oha la[;k Kkr 

djsaA 

(A) 136 (B) 153  

(C) 144 (D) 143 

26. A bus travels at the rate of 54 km/h without stoppages and it 

travels at 45 km/h with stopages. How many minutes does the 

bus stop on an average per hour?  

,d cl 54 fdeh@?kaVk dh nj ls fcuk :ds ;k=k djrh gS 

vkSj ;g 45 fdeh@?kaVk dh xfr ls :drs gq, ;k=k djrh 

gSA ;g cl izfr feuV vkSlru fdrus feuV ds fy, :drh 

gS\  

(A) 8 feuV  (B) 10 feuV 

(C) 12 feuV  (D) 4 feuV  

27. A woman is thrice as fast as a man and a man is thrice as fast 

as a boy in doing work. If all of them, a woman, a man and a 

boy can finish the work in 4 days, in how many days a boy 

will do it alone?  

,d efgyk fdlh dk;Z dks djus esa ,d iq:’k ls rhu xquk 

n{k gS vkSj ,d vkneh ,d yM+ds ls rhu xquk n{k gSA ;fn 

lHkh] ,d efgyk] ,d iq:’k vkSj ,d yM+dk 4 fnuksa esa bl 

dk;Z dks iwjk dj ldrs gSa] rks ,d yM+dk vdsys fdrus 

fnuksa esa bl dk;Z dks iwjk djsxk\  

(A) 9 (B) 4 

(C) 27 (D) 52 

28. If P + Q = 45
0
, then find the value of 4(1+tanP)(1+tanQ): 

;fn P + Q = 45
0   

gS rks 4(1+tanP)(1+tanQ) dk eku Kkr 

djsaA  

(A) 4 (B) 8  

(C) 10 (D) 2 

29. Which of the following is equal to 
    

    
  

    

    
  

    

    
  

    

    
 fuEufyf[kr esa ls dkSu cjkcj gS\ 

(a) secθ.tanθ  (b) cotθ.secθ  

(c) cosecθ.tanθ  (d) cosecθ.secθ  

Ans.(d)  

30. The price of 3 mobile phones and a Walkman is Rs.80000, 

While the price of 5 mobile phones and 2 walkman is Rs. 

150000. Find the price of a mobile phone?  

3 eksckby Qksu vkSj ,d okWdesu dk ewY; 80000 : gS] 

tcfd 5 eksckby Qksu vkSj 2 okWdesu dk ewY; 150000 : 

gSA ,d eksckby Qksu dk ewY; Kkr dhft,A 

(A) 100000  (B) 500000 

(C) 50000  (D) 10000 

Directions (29-31) : The following pie-chart shows the 

preference of musical instrument of 60000 people surveyed 

over whole India. Examine the chart and answer the questions. 

funsZ”k (23-25)% fuEufyf[kr oR̀r vkys[k iwjs Hkkjr esa fd, 

x;s losZ{k.k ls 60000 O;fDr;ksa ds laxhr ok|;a=ksa dh 

izkFkfedrk dks n”kkZrk gSA vkys[k dh tk¡p dhft,s vkSj 

iz”uksa ds mRrj nhft;sA 

 

31. If 2100 people would stop preferring flute, the percentage of 

people who prefer flute would have been? 

;fn ckalqjh ilan djus okys O;fDr;ksa dh la[;k esa 2100 

O;fDr;ksa dh deh gks tkrh gS] rks ckalqjh ilan djus okys 

O;fDr;ksa dk izfr”kr D;k gksxk\  

(A) 7.5% (B) 6.5% 

(C) 8.5% (D) 9.5% 

32. The total number of people who prefer sarod and guitar, is 

greater then the total number for people who prefer violin and 

sitar by? 

ljksn vkSj fxVkj ilan djus okys O;fDr;ksa dh dqy la[;k 

ok;fyu vkSj flrkj ilan djus okys O;fDr;ksa dh dqy 

la[;k ls fdruk vf/kd gS\  

(A) 1500  (B) 1300  

(C) 1200  (D) 1400 

33. The number of people who prefer Guitar is greater than the 

total number of people who prefer either flute or Misc. by? 

fxVkj ilan djus okys O;fDr;ksa dh la[;k] ckalqjh vkSj vU; 

ilan djus okys O;fDr;ksa dh dqy la[;k ls fdruk vf/kd 

gS\  

(A) 800  (B) 700  

(C) 600  (D) 500 

34. In the figure given below, ABDE is a cyclic quadreilateral. If 

 AED = 92 and  BCD = 21, then find the value of BDE. 

fn;s x;s fp= esa ABDE ,d pØh; prqHkqZt gS] ;fn AED 

= 92 rFkk BCD = 21 gS rks BDE dk eku Kkr dhft,A  

 
 (A) 67

0 
(B) 92

0 
(C) 103

0 
(D) 113

0
 

35. The pie chart given below shows the number of types of 6 

companies. Number of tyres of a particular company are shown as a 

percentage of total number of tyres of these 6 compnies? What is 

the sum of central angles formed by the sectors representing tyres of 

company F and A?  

uhps fn;k x;k ikbZ pkVZ 6 daifu;ksa A, B, C, D, E rFkk F ds 

Vk;jksa dh la[;k dks n”kkZrk gSA fdlh fof”k’V daiuh ds Vk;jksa dh 

la[;k dks] bu 6 daifu;ksa ds Vk;jksa dh dqy la[;k ds izfr”kr ds 

:i esa n”kkZrk x;k gS\ daiuh F rFkk A ds òÙk[k.Mksa }kjk fufeZr 

dsafæ; dks.kksa dk ;ksx D;k gS\  

(a) 108 degrees  (b) 84 degrees  

(c) 144 degrees  (d) 112 degrees  Ans.(c)  


